Free Response 2 – Practice
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Identify if y = e is a solution to the differential equation.




image6.png
Let R be the region in the first quadrant under the graph of y =

for 05 x5./6.

=
42

(a) Find the area of R.

(b) Iftheline x = k divides R into two regions of equal area, what is the value of k?

ontheinterval 05 x S ./6?

(©) Whatis the average value of y = 3%
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Use the table below to answer all parts of the question. Assume that f(z)
is continuous and differentiable on all z. f'(z) = 0 only at one value for
all z.

x @) i) | "G
0 1 0

1

3 b 3 1
—4 2 0.5 15

7 9 0 2

13 -3 -3 -3

(a) Identify the critical point(s) and point(s) of inflection for f(z). Give a
reason for each answer.

(b) Identify any local extrema for f(z), stating reasons for each extremum
identified.

(c) Using a tangent line approximation from £(1), identify an appropriate
approximation for b.

(d) How many roots does f(z) have on —4 < z < 13? State a reason for
your answer.
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Tim and John get in an argument over the i

. 2z
20 cos(z)

Tim says the limit exists while John says the limit does not exist.
(a) Identify derivative of z? using the limit definition.

(b) Identify the derivative of sin (z) using the limit definition.

2z

(c) Identify lim —
20 sin|

(d) Who is correct? Give a reason with your answer.
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A 12-foot ladder slides down a wall at a rate of 2 feet per second.
At what rate is the foot of the ladder sliding away from the base
of the wall when the ladder is 4 feet off the ground?
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Sand is pouring out of a bag at a constant rate of 4 cm® s 1,

which forms a conical pile on the ground beneath the bag. The
cone has a radius that is equal to its height. Identify the rate of
change of the radius of the cone when its radius is 2 cm.




